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G 395.8  [kL] 300.9  [kL] A249 [KL] | A 7.6%
R R TS+ B SV R
BRERE 120.9 [kL] 118.0 [KkL] A 2.8 [kL] A 2.4%
ESFH=E 86,735.7 [ TkWh] 85,074.2 [ TkWh]| A 1,661.6 [TkWh]| A 1.9%
HEE 5,669.7 [KL] 5,583.3  [kL] A 86.4 [KkL] A 1.5%
(KT;H+AEH)
FHE 343.5  [kL] 327.2  [KkL] A 16.3  [KkL] A 4.7%
(LPG+LNG+£8tHAH R)
LKEFERE 626.8 [FTm3] 604.1 [FTm3] A 227 [FTm3]]| A 3.6%
MTKERZE 1,248.2 [Tm3] 1,182.7 [Fm3] A 655 [Tm3]| A 5.2%
AR HBEES 510.0 [t] 493.3 [t] A 16.7  [t] A 3.3%
FNRCHBEES 93.0 [t] 84.7 [t] A 8.3 [t] A 9.0%
aE—RfERE 331.3 [t] 292.2 [t] A 39.1  [t] A 11.8%
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